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Textual Examples

1. For th AP31 L ite th
-Forthe AP: o, o, 5> T g write the

first term a and common difference d.

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oTrfB589SuLq

2. Which of the following list of number form
an AP ? If they form an AP. Write the next two
terms :

4,10,16,22,........

o Watch Video Solution

3. Which of the following list of number form

an AP ? If they form an AP. Write the next two


https://dl.doubtnut.com/l/_oTrfB589SuLq
https://dl.doubtnut.com/l/_qqKEDuVM8fIg
https://dl.doubtnut.com/l/_J9zLft1ZEz9T

° Watch Video Solution

4. Which of the following list of number form
an AP ? If they form an AP. Write the next two
terms :

~2.2 —22 —2

o Watch Video Solution



https://dl.doubtnut.com/l/_J9zLft1ZEz9T
https://dl.doubtnut.com/l/_kXlz6YHD7uii

5. Which of the following list of number form
an AP ? If they form an AP. Write the next two

terms :

1,1,1,2,2,2,3,3, 3..........

o Watch Video Solution

6. Find the 10th term of the AP:2,7,12 ...

o Watch Video Solution



https://dl.doubtnut.com/l/_qhJSYamHhIFu
https://dl.doubtnut.com/l/_ickFUsg3KbMf

7. Which term of the AP : 21, 18, 15, ... is - 81 ?
Also ,is any term O ? Give reason for your

answer .

o Watch Video Solution

8. Determine the AP whose 3rd term is 5 and

the 7th termis 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_BmojitnzF7zI
https://dl.doubtnut.com/l/_WclxvYQZbLrR

9. Check whether 301 is a term of the list of

number 5]11,17,23.....

o Watch Video Solution

10. How many two digit number are divisible

by3?

o Watch Video Solution



https://dl.doubtnut.com/l/_7jMfe2sNZZ9k
https://dl.doubtnut.com/l/_dinSXCIkFuDN

11. Find the 11th term from the last term
(towards the first term) of the: 10,7 , 4, .., -

62 .

o Watch Video Solution

12. A sum of Rs 1000 is invested at 8% simple
interest per year. Calculate the interest at the
end of each year. Do these interests for an AP.
If so, find the interest at the end of 30 years

making use of this fact.

| & I


https://dl.doubtnut.com/l/_hIShfYIUSGFu
https://dl.doubtnut.com/l/_n5Bzpj1eT1kG

| ¥ Watch Video Solution |

13.1n a flower bed , there are 23 rose plants in
the first row, 21 in the second , 19 in the third ,
and so on. There are 5 rose plants in the row.

How many rows are there in the flower bed ?

° Watch Video Solution

14. Find the sum of the first 22 term of the AP :

o Watch Video Solution



https://dl.doubtnut.com/l/_n5Bzpj1eT1kG
https://dl.doubtnut.com/l/_XmzMLGwN71zB
https://dl.doubtnut.com/l/_rnZJcvlr4e0t

15. If the sum of the first 14 terms of an AP is

1050 and its first term is 10, find the 20th term

o Watch Video Solution

16. How many terms of the AP : 24 | 21,18 ...

Must be taken so that sum is 78 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_rnZJcvlr4e0t
https://dl.doubtnut.com/l/_8SjtGF7RJ8CZ
https://dl.doubtnut.com/l/_0ww6FD9ndmr0
https://dl.doubtnut.com/l/_ca8njzcpf6xr

17. Find the sum of :

the first 1000 positive integers

o Watch Video Solution

18. Find the sum of:

the first n positive integers

o Watch Video Solution



https://dl.doubtnut.com/l/_ca8njzcpf6xr
https://dl.doubtnut.com/l/_HAenQvYTYF4k

19. Find the sum of first 24 terms of the list of
numbers whose nth term is given by

a, =3+ 2n.

o Watch Video Solution

20. A manufacturer of TV sets produced 600
sets in the third year and 700 sets in the
seventh year. Assuming that the production

increases uniformly by fixed number every year


https://dl.doubtnut.com/l/_O3V74cVscIfU
https://dl.doubtnut.com/l/_ulzwwv62uF7f

, find

the production in the 1st year

° Watch Video Solution

21. A manufacturer of TV sets produced 600
sets in the third year and 700 sets in the
seventh year. Assuming that the production
increases uniformly by fixed number every year

, find

the production in the 10th year

o Watch Video Solution



https://dl.doubtnut.com/l/_ulzwwv62uF7f
https://dl.doubtnut.com/l/_uosdGqeeDC47

22. A manufacturer of TV sets produced 600
sets in the third year and 700 sets in the
seventh year. Assuming that the production
increases uniformly by fixed number every year
, find

the total production in first 7 years.

° Watch Video Solution

Other Important Examples


https://dl.doubtnut.com/l/_uosdGqeeDC47
https://dl.doubtnut.com/l/_jLqzklGkz3rG

1. If k + 1, 3k and 4k + 2 be any three

consecutive terms of an AP. Find the value of k.

o Watch Video Solution

2.Find out a and d for each of the following AP

o Watch Video Solution



https://dl.doubtnut.com/l/_F80TaXy4tTSN
https://dl.doubtnut.com/l/_EjNM7Di9G0HC

3. Find our a and d for each of the following AP

5,5+ /3,5 +2¢/3, +5+ 3,/3 ..

o Watch Video Solution

4. For the following AP. Find the common

difference d and write the next three terms :

o Watch Video Solution



https://dl.doubtnut.com/l/_uQ7nfB78pYq9
https://dl.doubtnut.com/l/_P9jtwm6FV5lC
https://dl.doubtnut.com/l/_Fp5M6NlRf26H

5. Find the 10th term from the end of the AP

4,9, 14, .....254.

° Watch Video Solution

6. Find the common difference of the AP

1
whose first term is 3 and the 8th term is %7 )

Also find its 4th term.

° Watch Video Solution



https://dl.doubtnut.com/l/_Fp5M6NlRf26H
https://dl.doubtnut.com/l/_LAKoGuwpG8by

7. Which term of the AP 8, 14, 20,26,.....will be 72

more than its 41st term ?

o Watch Video Solution

8. Which term of the AP, 45,41,37,33 it its first

negative term ?

o Watch Video Solution



https://dl.doubtnut.com/l/_unh17D8nK53A
https://dl.doubtnut.com/l/_NBNjVrs1Sjqc

1
9. If the pth term of an AP is — and the qth
q

term is 7 show that the sum of pg terms is
(pg+1)

2

o Watch Video Solution

10. The ratio of sum of first n terms of two Aps

8n + 1
4+ 3

the ratio of their 7th terms.

IS

for every positive integer n. Find

o Watch Video Solution



https://dl.doubtnut.com/l/_XVGW4PjfnUN6
https://dl.doubtnut.com/l/_rMiJYA6R06wW
https://dl.doubtnut.com/l/_vLkvvLsw5aMa

11. Show that the sum of an AP whose first

term is a, the second term is b and the last
(a +¢)(b+ ¢c— 2a)
2(b — a) '

term is cis equal to

o Watch Video Solution

12. The sum of first p,g and r terms of an AP

are ab and c respectively . Show that

Sla=r)+ o =B+ (-9 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_vLkvvLsw5aMa
https://dl.doubtnut.com/l/_4bSPW4HMuRCj
https://dl.doubtnut.com/l/_Jp5m3mFmlDTP

13. For as Ap. S, = m and S,, = n . Prove

that Spoen = — (M +n). (M # n)

° Watch Video Solution

Test Your Skills

1. Find out a and d for each of the following
Aps:

12, -7, —2.3,.....

o Watch Video Solution



https://dl.doubtnut.com/l/_Jp5m3mFmlDTP
https://dl.doubtnut.com/l/_BxrjIffMqAqK

2. Find out a and d for each of the following
Aps:

3153
4’77 4’ 2

o Watch Video Solution

3. Find out a and d for each of the following
Aps:

2.5,1.5,0.5, — 0.5 .....

o Watch Video Solution



https://dl.doubtnut.com/l/_yLJUAAcjGCrE
https://dl.doubtnut.com/l/_cZzktlIzOw3Q
https://dl.doubtnut.com/l/_ZZ1jz0qWADq9

4. Find out a and d for each of the following

Aps:

o Watch Video Solution

5. Which of the following lists of numbers
does form an AP ?

4,10,16,22,......

o Watch Video Solution



https://dl.doubtnut.com/l/_ZZ1jz0qWADq9
https://dl.doubtnut.com/l/_IgRQjITAlA37
https://dl.doubtnut.com/l/_Ex73R1OQeYXe

6. Which of the following lists of numbers
does form an AP ?

5,1, —3, — 7,0

o Watch Video Solution

7. Which of the following lists of numbers does

form an AP ?

1,1,2,3,5,8......

o Watch Video Solution



https://dl.doubtnut.com/l/_Ex73R1OQeYXe
https://dl.doubtnut.com/l/_A4VD9eDUfSrv

8. Which of the following lists of numbers

does form an AP ?

5, — 5,5, — 5w

o Watch Video Solution

. Determine k
k+ 2,4k — 6 and 3k — 2

consecutive terms of an AP.

SO

are

that

three

o Watch Video Solution



https://dl.doubtnut.com/l/_mlwgRKYxOjEc
https://dl.doubtnut.com/l/_919PkKvhXoKS
https://dl.doubtnut.com/l/_ahBPt5PN1D20

10. Determine x so that x -2, 4x -1 and 5x + 2

are three consecutive terms of an AP.

° Watch Video Solution

2
11. For an AP, if a_Z , find a6
ar 3 as

° Watch Video Solution

12. A finite AP has 21 terms . The sum of 10th,

11th and 12th term is 129 and the sum of its


https://dl.doubtnut.com/l/_ahBPt5PN1D20
https://dl.doubtnut.com/l/_5p45p1C3KY7O
https://dl.doubtnut.com/l/_K1giYfzcMCgU

last three terms is 237 . Find the AP.

o Watch Video Solution

13. Determine k SO that
k> + 4k + 8, 2k* 4+ 3k + 6, 3k* + 4k + 4, are

three consecutive terms of an AP.

o Watch Video Solution

14. Find the sum of two middle most terms of

the AP 4 1 2 41
e g, 9 g, coee o §


https://dl.doubtnut.com/l/_K1giYfzcMCgU
https://dl.doubtnut.com/l/_9XqbjRAWohrM
https://dl.doubtnut.com/l/_yUh2Pfco6zk8

° Watch Video Solution

15. The 26th , 11th and the last term of an AP
are 03 and — 5 respectively. Find the

common difference and the number of terms .

° Watch Video Solution

16. How many three digit numbers are such
that when divided by 7, leaves a remained 3 in

each case ?

| e |


https://dl.doubtnut.com/l/_yUh2Pfco6zk8
https://dl.doubtnut.com/l/_PGnPAEpqsSPG
https://dl.doubtnut.com/l/_G1o6sLyW6jaq

& Wwatch Video Solution I

17. If the 9th term of an AP is zero, prove that

its 29th term is twice its 19th term.

o Watch Video Solution

18. Find the number of odd integers between 2

and 100 which are divisible by 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_G1o6sLyW6jaq
https://dl.doubtnut.com/l/_yLnYSbi4RlHE
https://dl.doubtnut.com/l/_n4C86DFn3vp3
https://dl.doubtnut.com/l/_chKdxora3w0w

19. The sum of 5th and 7th terms of an AP is 52

and the 10th term is 46 . Find the common

difference of the AP.

° Watch Video Solution

20. Find the 20th term of the AP whose 3rd
term is 7 and the 7 term exceeds three times

the third term by 2. Also find its nth term a,, .

° Watch Video Solution



https://dl.doubtnut.com/l/_chKdxora3w0w
https://dl.doubtnut.com/l/_1Jw0Hxla4MxQ

21. The first and the last term of an AP are 7
and 49 respectively. If the sum of all its terms

is 420, find the common difference.

o Watch Video Solution

22.Find :
Sum of those integers between 1 and 500

which are multiples of 2 as well as of 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_a0zlcfrCFbZV
https://dl.doubtnut.com/l/_rb8Fm9ftiXyQ
https://dl.doubtnut.com/l/_jFOOgtnWxAOx

23.Find :
Sum of those integers from 1 to 500 which are

multiples of 2 as well as of 5.

o Watch Video Solution

24.Find :
Sum of those integers from 1 to 500 which are

multiples of 2 or 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_jFOOgtnWxAOx
https://dl.doubtnut.com/l/_JXYY5pzqBwq0
https://dl.doubtnut.com/l/_bgzQMoB1NAF4

25. The sum of first seven terms of an AP is 182.
If its 4th and the 17th term are in the ratio 1:5,

find the AP.

o Watch Video Solution

26. If the sum of first n terms of an AP is
1
5(37?,2 + 7n) , then find its nth term. Hence

write its 20th term.

o Watch Video Solution



https://dl.doubtnut.com/l/_bgzQMoB1NAF4
https://dl.doubtnut.com/l/_rFy74BSMfFIN

27.1f S,, denotes the sum of first n terms of an

AP, prove that S15 = 3(Sg — Sy)

° Watch Video Solution

28. The ratio of the sum of first n terms of two
APs is (7n + 1): (4n + 27). Find the ratio of their

mth terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_2B3fpS1MSD6I
https://dl.doubtnut.com/l/_9ZGUWwOQ6O1i

29. A man repays a loan of Rs 3250 by paying
Rs 20 in the first month and then increase the
ayment by Rs 15 every month. How long will it

take him to clear the loan?

° Watch Video Solution

30. If the 12th term of an AP is -13 and the sum
of its first four terms is 24, what is the sum of

its first 10 terms ?

° Watch Video Solution



https://dl.doubtnut.com/l/_uE8zZgMsmgaj
https://dl.doubtnut.com/l/_axdI7MGV0XDT

31. Kartikay repays his total loan of Rs 1,18,000
by repaying every month. Starting with the
first instalment of Rs 1000, if he increases the
instalment by Rs 100 every month, what
amount will be paid by him in the 30th
instalment ? What amount does he still have

to pay after the 30th instalment ?

o Watch Video Solution



https://dl.doubtnut.com/l/_axdI7MGV0XDT
https://dl.doubtnut.com/l/_63ENmxLeSME9

32. The 9th term of an AP is equal to 6 times
the second term. If its 5th term is 22 find the

AP.

o Watch Video Solution

33. The sum of the first 7 terms of an AP is 63

and the sum of its next 7 terms is 161. Find the

28th term of this AP.

o Watch Video Solution



https://dl.doubtnut.com/l/_uO5igQLcgSPB
https://dl.doubtnut.com/l/_rIemN81RzSM8
https://dl.doubtnut.com/l/_3XaIcJwexkYf

34. Which term of the AP 75, 72, 69, ... is its first

negative term ? If it is the nth term, find S,, .

° Watch Video Solution

35. Three numbers in AP have the sum 18 and
the sum of their squares is 180. Three those

numbers in the increasing order.

° Watch Video Solution



https://dl.doubtnut.com/l/_3XaIcJwexkYf
https://dl.doubtnut.com/l/_BgPYkKQ7bFom

36. Find four consecutive terms in AP whose
sum is 20 and the sum of whose squares is

120.

o Watch Video Solution

37.Ramkali required Rs 2500 after 12 weeks to
send her daughter to school. She saved Rs 100
in the first week and increased her weekly
saving by Rs 20 every week. Find whether she

will be able to send her daughter to school


https://dl.doubtnut.com/l/_fe84bewfzXFo
https://dl.doubtnut.com/l/_k7DBlDZFtd5Z

after 12 weeks. What value is generated in the

above situation ?

° Watch Video Solution

1. In which of the following situations, does
the list of numbers involved make an
arithmetic progression , and why ?

The taxi fare after each km, when the fare is Rs


https://dl.doubtnut.com/l/_k7DBlDZFtd5Z
https://dl.doubtnut.com/l/_3WTwra3p8rry

15 for the first km and Rs 8 for each additional

km.

° Watch Video Solution

2. In which of the following situations, does
the list of numbers involved make an
arithmetic progression , and why ?

The amount of air present in a cylinder when a
vacuum pump removes — of the air remaining

4

in the cylinder at a time .

° Watch Video Solution



https://dl.doubtnut.com/l/_3WTwra3p8rry
https://dl.doubtnut.com/l/_KmUE3mkk84VK

3. In which of the following situations, does
the list of numbers involved make an
arithmetic progression , and why ?

The cost of digging a well after every for the
first metre and rises by Rs 50 for each

subsequent metre.

o Watch Video Solution

4. In which of the following situations, does

the list of numbers involved make an


https://dl.doubtnut.com/l/_KmUE3mkk84VK
https://dl.doubtnut.com/l/_JYtfr0hkKGGP
https://dl.doubtnut.com/l/_yVB5kmYoF3XP

arithmetic progression , and why ?
The amount of money in the account every
year, when Rs 10,000 is deposited at

compound interest at 8% per annum.

° Watch Video Solution

5. Write first four terms of the AP. When the
first term a and the common difference d are

given as follows :

a=10,d=10

o Watch Video Solution



https://dl.doubtnut.com/l/_yVB5kmYoF3XP
https://dl.doubtnut.com/l/_DSLH0PgI4LwP

6. Write first four terms of the AP. When the
first term a and the common difference d are

given as follows :

a= —2,d=0

° Watch Video Solution

7. Write first four terms of the AP. When the
first term a and the common difference d are

given as follows :


https://dl.doubtnut.com/l/_DSLH0PgI4LwP
https://dl.doubtnut.com/l/_RPoK0oF926Wj
https://dl.doubtnut.com/l/_cphL3enelByP

° Watch Video Solution

8. Write first four terms of the AP. When the
first term a and the common difference d are

given as follows :

= 1d—1
a = &=

o Watch Video Solution

9. Write first four terms of the AP. When the

first term a and the common difference d are


https://dl.doubtnut.com/l/_cphL3enelByP
https://dl.doubtnut.com/l/_w0Aur6k2916D
https://dl.doubtnut.com/l/_QiUFSw8zhTHn

given as follows :

a= —125d= —0.25

° Watch Video Solution

10. For the following Ap. Write the first term

and the common difference:

3,1, -1, —3, v

° Watch Video Solution



https://dl.doubtnut.com/l/_QiUFSw8zhTHn
https://dl.doubtnut.com/l/_cgmimZBv9IUo

1. For the following AP. Write the first term

and the common difference:

5, — 1,3, e,

o Watch Video Solution

12. For the following AP. Write the first term
and the common difference:

o Watch Video Solution



https://dl.doubtnut.com/l/_rEupKNAccyaf
https://dl.doubtnut.com/l/_f9TghuSG93KD
https://dl.doubtnut.com/l/_pHIqY8cW16WO

13. For the following AP. Write the first term

and the common difference:

0.6,1.7,2.8,3.9......

o Watch Video Solution

14. Which of the following are AP? If they form
an AP find the common difference d and write

three more terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_pHIqY8cW16WO
https://dl.doubtnut.com/l/_M8yrZPPqjARt

15. Which of the following are AP? If they form
an AP find the common difference d and write

three more terms.

5 7

2
72737

o Watch Video Solution

16. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

~1.2, — 3.2, —5.2 —172 ...

| I


https://dl.doubtnut.com/l/_DD06IEaAau7z
https://dl.doubtnut.com/l/_ahLLYAqu3dVO

| ¥ Watch Video Solution |

17. Which of the following are Aps? If they form
an AP find the common difference d and write

three more terms.

10, — 6, — 2,2, ...

° Watch Video Solution

18. Which of the following are Aps? If they

form an AP find the common difference d and


https://dl.doubtnut.com/l/_ahLLYAqu3dVO
https://dl.doubtnut.com/l/_bW2wbrvas2UK
https://dl.doubtnut.com/l/_51gcedhBJgBg

write three more terms.

3,34+2,34+2v2,3+3V2, .......

° Watch Video Solution

19. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

0.2,0.22, 0.222, 0.2222, ......

o Watch Video Solution



https://dl.doubtnut.com/l/_51gcedhBJgBg
https://dl.doubtnut.com/l/_opPaEoUyyM0T

20. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

0, —4, —8 — 12, .......

o Watch Video Solution

21. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

1 1 1

1
5 5 5 5 e :

| & I


https://dl.doubtnut.com/l/_m0saHHlpANA2
https://dl.doubtnut.com/l/_meBnHCrwtktD

| ¥ Watch Video Solution |

22. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

1,3,9,27

° Watch Video Solution

23. Which of the following are Aps? If they

form an AP find the common difference d and


https://dl.doubtnut.com/l/_meBnHCrwtktD
https://dl.doubtnut.com/l/_ZajcktzYSCAn
https://dl.doubtnut.com/l/_Z3drsLrNFw1U

write three more terms.

a, 2a, 3a, 4a ...

° Watch Video Solution

24. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_Z3drsLrNFw1U
https://dl.doubtnut.com/l/_sF4pm0LecmB2

25. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

V2, /B, /18, /3.

o Watch Video Solution

26. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

V3, v/6, /9, V12

| & I


https://dl.doubtnut.com/l/_6sSma5M95unD
https://dl.doubtnut.com/l/_BNwkxxIbp15j

| ¥ Watch Video Solution |

27. Which of the following are Aps? If they
form an AP find the common difference d and

write three more terms.

° Watch Video Solution

28. Which of the following are Aps? If they

form an AP find the common difference d and


https://dl.doubtnut.com/l/_BNwkxxIbp15j
https://dl.doubtnut.com/l/_n2wCmfn4Lv8o
https://dl.doubtnut.com/l/_PslxHi4VKoti

write three more terms.

12,52, 7%, 7. .

° Watch Video Solution

1. Fill in the blanks in the following table ,

given that a is the first term , d the common

difference and a,, the nth term of the AP :

a d n a,

7 3 8

° Watch Video Solution



https://dl.doubtnut.com/l/_PslxHi4VKoti
https://dl.doubtnut.com/l/_h94gJYWojOlz

2. Fill in the blanks in the following table ,
given that a is the first term , d the common

difference and a,, the nth term of the AP :

a d n a,
—18 2 10

o Watch Video Solution

3. Fill in the blanks in the following table ,

given that a is the first term , d the common


https://dl.doubtnut.com/l/_h94gJYWojOlz
https://dl.doubtnut.com/l/_VqMEN7tFqvL5
https://dl.doubtnut.com/l/_ToOxjqQbR8wy

difference and a,, the nth term of the AP :

a d n ay,
46 —3 18

° Watch Video Solution

4. Fill in the blanks in the following table ,
given that a is the first term , d the common
difference and a,, the nth term of the AP :

(a,d,n,a,), ( —18.9,2.5, ,_3.6)

o Watch Video Solution



https://dl.doubtnut.com/l/_ToOxjqQbR8wy
https://dl.doubtnut.com/l/_FHbFRvaFf189

5. Fill in the blanks in the following table ,
given that a is the first term , d the common

difference and a,, the nth term of the AP :

a d n a,
3.5 0 105

o Watch Video Solution

6. Choose the correct choice in the following
and justify :

30th term of the AP: 10, 74,.....is

A. 97


https://dl.doubtnut.com/l/_EL3hC2qu8DHR
https://dl.doubtnut.com/l/_zgYpU69pjMdL

B.77

C.— 77
D. — 87
Answer: C

o Watch Video Solution

7. Choose the correct choice in the following
and justify :

1
11th term of the AP: -3, — 5 2, e IS


https://dl.doubtnut.com/l/_zgYpU69pjMdL
https://dl.doubtnut.com/l/_eY7lPup0QJ5D

A. 28

B. 22

C.—38

D. —48—

Answer: B

o Watch Video Solution

8. In the following Aps, find the missing terms
in the boxes .

207, 26


https://dl.doubtnut.com/l/_eY7lPup0QJ5D
https://dl.doubtnut.com/l/_KUQcfHYoMYPB

° Watch Video Solution

9. In the following Aps, find the missing terms
in the boxes .

0,13, 03

° Watch Video Solution

10. In the following Aps, find the missing terms

in the boxes .
501, 1,9 L
b} ) 2

| e |


https://dl.doubtnut.com/l/_KUQcfHYoMYPB
https://dl.doubtnut.com/l/_xIPpwrYTb1fF
https://dl.doubtnut.com/l/_5VjMcCXcT6pS

& Watch Video Solution I

11. In the following Aps, find the missing terms

in the boxes .

—4,0,0,0,0,6

° Watch Video Solution

12.In the following Aps, find the missing terms

in the boxes .

0,38, 0,0, 0, — 22

l ° Watch Video Solution


https://dl.doubtnut.com/l/_5VjMcCXcT6pS
https://dl.doubtnut.com/l/_S8ocWJLrM43V
https://dl.doubtnut.com/l/_ebt4xZvHEF8C

13. Which term of the AP : 3,8,13,18,..... is 787

° Watch Video Solution

14. Find the number of terms in each of the
following AP :

7,13,19,....,205

° Watch Video Solution



https://dl.doubtnut.com/l/_ebt4xZvHEF8C
https://dl.doubtnut.com/l/_lIYFzVVjCO8e
https://dl.doubtnut.com/l/_OUA3zvYwgi4B

15. Find the number of terms in each of the
following Aps :

1
18,155, 13, coeeee. L, — 47

o Watch Video Solution

16. Check whether -150 is a term of the AP : 11,

o Watch Video Solution



https://dl.doubtnut.com/l/_nnXoia9k9ktC
https://dl.doubtnut.com/l/_FcOjGj1WW93P

17. Find the 31st term of an AP whose 11th term

is 38 and the 16th term is 73.

° Watch Video Solution

18. An AP consists of 50 terms of which 3rd

term is 12 and the last term is 106. Find the

29th term.

° Watch Video Solution



https://dl.doubtnut.com/l/_bjVcohccqAR5
https://dl.doubtnut.com/l/_7oJWEptuaT63

19. If the 3rd and the 9th terms of an AP are 4
and -8 respectively , which term of this AP is

zero?

o Watch Video Solution

20. The 17th term of an AP exceeds its 10th

term by 7. Find common difference .

° Watch Video Solution



https://dl.doubtnut.com/l/_lVJTrW8nknqq
https://dl.doubtnut.com/l/_eN5dcGt5YXxY

21. Which term of the AP: 3,15, 27, 39 will be

132 more than its 54th term?

° Watch Video Solution

22. Two APs have the same common difference
The difference between their 100th terms is
100 , what is the difference between their

1000th terms ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cb2vinV04Nq8
https://dl.doubtnut.com/l/_0n2fvlnDXlhf
https://dl.doubtnut.com/l/_a123ijUgT5jX

23. How many three digit numbers are divisible

by7?

o Watch Video Solution

24. How many multiples of 4 lie between 10

and 250 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_a123ijUgT5jX
https://dl.doubtnut.com/l/_BHlqOY0zVf1y

25. For what value of n , are the nth terms of

two Aps 63,65, 67, ... and 3,10,17, ....equal ?

° Watch Video Solution

26. Determine the AP whose third term is 16

and the 7th term exceeds the 5th term by 12..

o Watch Video Solution



https://dl.doubtnut.com/l/_6ENVAboSy1NR
https://dl.doubtnut.com/l/_W45litSXZCYS

27. Find the 20th term from the last term of

the AP: 3,8, 13,....253.

° Watch Video Solution

28. The sum of the 4th and 8th terms of an AP

is 24 and the sum of the 6th and 10th terms is

44.Find the first three terms of the AP.

° Watch Video Solution



https://dl.doubtnut.com/l/_yGmxGgHm1eQW
https://dl.doubtnut.com/l/_XgtWQqYJ1j8q

29. Subha Rao stared work in 1995 at an annual
salary of Rs 5,000 and received an increment
of Rs 200 each year . In which year did his

income reach Rs 7.000 ?

o Watch Video Solution

30. Ramkali saved Rs 5 in the first week of a
year and then increased her weekly savings by
Rs 1.75 . If the nth week. her weekly saving

becomes Rs 20.75 find n.

| & I


https://dl.doubtnut.com/l/_iVYLK4CNJPQm
https://dl.doubtnut.com/l/_JKERKcaUcFkC

| ¥ Watch Video Solution

1. Find the sum of following Aps.

2,7,12, ...... to 10 terms .

o Watch Video Solution

2. Find the sum of following Aps.

—37, —33, —29,....., to12term

l ° Watch Video Solution


https://dl.doubtnut.com/l/_JKERKcaUcFkC
https://dl.doubtnut.com/l/_L8ogFUIsP5zy
https://dl.doubtnut.com/l/_I8swPOp8KLc7

3. Find the sum of following Aps.

0.6,1.7,2.8, ...., to 100 terms

o Watch Video Solution

4.Find the sum of following Aps.

1 1 1

5 12° 10 to 11 terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_I8swPOp8KLc7
https://dl.doubtnut.com/l/_zdxHLIHs2Ase
https://dl.doubtnut.com/l/_MhJtSLJWJp36

5. Find the sums sums given below :

1
7—|—105—|—14—|—.... + 84

o Watch Video Solution

6. Find the sums sums given below :

34+32+30+..... +10

o Watch Video Solution



https://dl.doubtnut.com/l/_VLvUQVC2Ip5J
https://dl.doubtnut.com/l/_1YMCNV2kFnhu

7.Find the sums sums given below :

(=5)+(—8)+(—11) +...... + ( — 230)

o Watch Video Solution

8.In an AP :

Givena=5,d=3,a, = 50, indnand §,,

o Watch Video Solution



https://dl.doubtnut.com/l/_kwOG6bybzjUf
https://dl.doubtnut.com/l/_KV4IJmr2UQdt

9.In an AP:

Givea=7,a13 — 35,ﬁnddand 513.

° Watch Video Solution

10.In an AP ;

Givea=7,a19 = 37,d=3,find aand S}, .

o Watch Video Solution



https://dl.doubtnut.com/l/_x0ilmIlMGGOn
https://dl.doubtnut.com/l/_HLT0avfiR6sj

1.In an AP:

Given a3 = 15, S7g = 125, find d and a;q

° Watch Video Solution

12.1n an AP :

Given d = b, sg = 75 find a and ay

o Watch Video Solution



https://dl.doubtnut.com/l/_4NfArImLiaW2
https://dl.doubtnut.com/l/_ebxWuqQGnMpt

13.In an AP:

Givena = 2,d = 8,5, = 90, find nand a,, .

o Watch Video Solution

14.1n an AP ;

Givena=8,a, = 62,5, = 210,find nand d.

o Watch Video Solution



https://dl.doubtnut.com/l/_ASzf7MYg45sP
https://dl.doubtnut.com/l/_I3Od0C8IbfBa

15.In an AP :

Givena, =4,d =2,5, = —14,findnand a

o Watch Video Solution

16.In an AP :

Givena=3,n=8,5, = 192,findd.

° Watch Video Solution



https://dl.doubtnut.com/l/_dcrhRjJ7zG4m
https://dl.doubtnut.com/l/_hLc4vOYUdqgZ

17.1n an AP :
Given | = 28, 5,, = 144, and there are total 9

terms . Find a.

o Watch Video Solution

18. How many terms of the AP, 9, 17 , 25

....... must be taken to give a sum of 636 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_2mN21GjS2Yo2
https://dl.doubtnut.com/l/_udQd72y0Q87T

19. The first term of an AP is 5, the last term is
45 and the sum is 400. Find the number of

terms and the common difference.

o Watch Video Solution

20.The first and the last terms of an AP are 17
and 350 respectively . If the common
difference is 9, how many terms are there and

what is their sum?

° Watch Video Solution



https://dl.doubtnut.com/l/_OuGLqrOkrAza
https://dl.doubtnut.com/l/_C2zmukQ412sK

21. Find the sum of first 22 terms of an AP in

which d =7 and 22nd term is 149.

o Watch Video Solution

22. Find the sum of first 51 terms of an AP
whose second and third terms are 14 and 18

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_C2zmukQ412sK
https://dl.doubtnut.com/l/_nmMqxIRlF2aH
https://dl.doubtnut.com/l/_bbr3E4aeB7gn
https://dl.doubtnut.com/l/_phaPg4LTQhgl

23. If the sum of first 7 terms of an AP is 49
and that of 17 terms is 289, find the sum of

first n terms.

o Watch Video Solution

24. Show that aq, aq, ...... a,, .... from an AP
where a,, is defined as below:

(Da, =3+ 4n(2)a, =9 — 5n

Also find the sum of the first 15 terms in each

case.

o Watch Video Solution



https://dl.doubtnut.com/l/_phaPg4LTQhgl
https://dl.doubtnut.com/l/_HGpj4F2Nmpc0

25. If the sum of the first n terms of an AP is
4n — n? , what is the first term (that is S1)?
What is the sum of first two terms ? What is
the second term ? Similarly . Find the 3rd, the

10th and the nth terms..

o Watch Video Solution

26. Find the sum of the first 40 positive

integers divisible by 6.

l o Watch Video Solution


https://dl.doubtnut.com/l/_HGpj4F2Nmpc0
https://dl.doubtnut.com/l/_OBW97vQzlU6s
https://dl.doubtnut.com/l/_g8bBBAKH56cf

27.Find the sum of the first 15 multiple of 8.

o Watch Video Solution

28. Find the sum of the odd numbers between

0 and 50.

o Watch Video Solution



https://dl.doubtnut.com/l/_g8bBBAKH56cf
https://dl.doubtnut.com/l/_pDdIEf192btN
https://dl.doubtnut.com/l/_0ZUSou2IQEZg

29. A contract on construction job specifies a
penalty for delay of completion beyond a
certain date as follows : Rs 200 for the first
day . Rs 250 for the second day, Rs 300 for the
third day, etc. the penalty for each succeeding
day being Rs50 more than for the preceding
day. How much money the contractor has to
pay as penalty , if the has delayed the work by

30 days?

o Watch Video Solution



https://dl.doubtnut.com/l/_1UKdv6D14J5I
https://dl.doubtnut.com/l/_PDCTe1BdhFze

30. A sum of Rs 700 is to be used to give seven
cash prizes to students of a school for their
overall academic performance. If each prize is
Rs 20 less than its preceding prize , find the

value of each of the prizes.

° Watch Video Solution

31. In a, school , students thought of planting
trees in and around the school to reduce air
pollution . It was decided that the number of

trees , that each section of each class will


https://dl.doubtnut.com/l/_PDCTe1BdhFze
https://dl.doubtnut.com/l/_fo27QLJ3ctBH

plant, will be the same as the class, in which
they are studying, e.g., a section of class | will
plant 1 tree , a section of class Il will plant 2
trees and so on till Class XII. There are three
sections of each class. How many trees will be

planted by the students ?

o Watch Video Solution

32. A spiral is made up of successive
semicircles , with centres alternately at ' A and

B, starting with centre at A, of radii 0.5 cm, 1.0


https://dl.doubtnut.com/l/_fo27QLJ3ctBH
https://dl.doubtnut.com/l/_ReSso5wkUVp3

cm, 1.5 cm, 2.0 cm, ... as shown in the given
figure . What is the total length of such a

spiral made up to thirteen consecutive

o 22
semicircles ? (Take m = a )

° Watch Video Solution



https://dl.doubtnut.com/l/_ReSso5wkUVp3

33. 200 logs are stacked in the following
manner : 20 logs in the bottom row, 19 in the
next row 18 in the row next to it and so on
(see the given figure ). In how many rows are
the 200 logs placed and how many logs are in

the top row?

o Watch Video Solution



https://dl.doubtnut.com/l/_EZ3tLx1ITxbV

34. In a potato race, a bucket is placed at the
starting point, which is 5 m from the first
potato , and the other potatoes are placed 3
m apart in a straight line. There are ten

potatoes in the line (see the given figure ).

A competitor starts from the bucker, picks up
the nearest potato, runs back with it , drops it
in the bucket, runs back to pick up the next
potato , runs to the bucket to drop it in. and

she continues in the same way until all the


https://dl.doubtnut.com/l/_i7ifdGDT40K4

potatoes are in the bucket . What is the total

distance the competitor has to run?

° Watch Video Solution

1. Which term of the AP 121, 117,113,......is its first

negative term ?

o Watch Video Solution



https://dl.doubtnut.com/l/_i7ifdGDT40K4
https://dl.doubtnut.com/l/_3ZSN9FdJIH5I

2. The sum of the third and the seventh term
of an AP is 6 and their product is 8. Find the

sum of first sixteen terms of the AP.

o Watch Video Solution

3. A ladder has rungs 25 cm apart. (see the
given figure). The rungs decrease uniformly in
length from 45 cm at the bottom to 25 cm at
the top. If the top and the bottom rungs are

1
25 m apart, what is the length of the wood


https://dl.doubtnut.com/l/_2FGHAH0XmggW
https://dl.doubtnut.com/l/_iTcDgDMSKay3

required for the rungs?

I 25 cm i
¥ i
| |
] |
] i
| i
2.im
25 em
A
45 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_iTcDgDMSKay3

4. The houses of a row are numbered
consecutively from 1 to 49. Show that there is
a value of x such that the sum of the numbers
of the houses preceding the house numbered
x is equal to the sum of the numbers of the

houses following it. Find this value of x.

o Watch Video Solution

5. A small terrace at a football ground

comprises of 15 steps each of which is 50 m


https://dl.doubtnut.com/l/_tNUUEfGoKjLn
https://dl.doubtnut.com/l/_pIUxi9Ld9QJy

long and built of solid concrete. Each step has
a rise of m 1 and a tread of 3 m (see the

given figure). Calculate the total volume of

concrete required to build the terrace.

° Watch Video Solution

Practice Thoroughly

1. Find the sum of following AP:

a+b, a-b, a-3b, ... up to 22 terms

o Watch Video Solution



https://dl.doubtnut.com/l/_pIUxi9Ld9QJy
https://dl.doubtnut.com/l/_ZMAsYbGjfznv

2. Find the sum of following AP:

(z —y), (2 + %), (z + ) up to n

terms

° Watch Video Solution

3. Find the sum of following AP:
r—1y 3r—2y dr— 3y
r+y Tty xzT+uy

terms

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMAsYbGjfznv
https://dl.doubtnut.com/l/_IyhfdEOUalSn
https://dl.doubtnut.com/l/_qLgEEeZIacEW

4. How many terms of the AP 27, 24, 21, ..

should be taken so that their sum is zero ?

o Watch Video Solution

5. Find the sum of all three digit numbers

which are multiples of 11.

° Watch Video Solution



https://dl.doubtnut.com/l/_qLgEEeZIacEW
https://dl.doubtnut.com/l/_B7neLMvY8N4d
https://dl.doubtnut.com/l/_jysqMtOOCEX6

6. In an AP, the sum of first ten terms is - 150
and the sum of its next ten terms is - 550. Find

the AP.

o Watch Video Solution

7. Show that the sum of all odd integers
between 1 and 1000 which are divisible by 3 is

83667.

o Watch Video Solution



https://dl.doubtnut.com/l/_wi696R9lJO6b
https://dl.doubtnut.com/l/_5pc4Ymvcmzcv
https://dl.doubtnut.com/l/_HZ7COT889gVr

8. A thief, after committing a theft runs at a
uniform speed of 50 m/minute. After 2
minutes, a policeman runs to catch him. He
goes 60 m in first minute and increases his
speed by 5 m/minute every succeeding minute.
After how many minutes, the policeman will

catch the thief?

o Watch Video Solution

9. The sum of first n terms of three APs are

S1, 52 and Ss3. The first term of each AP is 5


https://dl.doubtnut.com/l/_HZ7COT889gVr
https://dl.doubtnut.com/l/_IxSsRToHFULG

and their common differences are 2, 4 and 6

respectively. Prove that §; + S3 = 25,.

° Watch Video Solution

10. The sum of first n terms of an AP is
5n% + 3n If its mth term is 168, find the value

of m. Also find the 20th term of the AP.

° Watch Video Solution



https://dl.doubtnut.com/l/_IxSsRToHFULG
https://dl.doubtnut.com/l/_5kSRAbll1VEz

11. Solve the equation :

(-4 +(-1)+2+5+....... .+ @ =437

° Watch Video Solution

12. Fill in the blanks so as to make each of the
following statements true :
If 7th and 13th terms of an AP are 34 and 64

respectively, then its 18th term is ..........

o Watch Video Solution



https://dl.doubtnut.com/l/_buoFn1PpjSxb
https://dl.doubtnut.com/l/_Z8emkP79hWIp
https://dl.doubtnut.com/l/_Y1UO1fZ1QdUh

13. Fill in the blanks so as to make each of the
following statements true:

The first and the last term of an AP are 1 and
1. If the sum of all its terms in 36, then the

number of terms is .........

o Watch Video Solution

14. Fill in the blanks so as to make each of the
following statements true:

Forany AP, S, — 25,1+ S,_2 = eenen...

o Watch Video Solution



https://dl.doubtnut.com/l/_Y1UO1fZ1QdUh
https://dl.doubtnut.com/l/_mHLB4lKhtKYQ

15. Fill in the blanks so as to make each of the
following statements true:
If the sum of first n terms of an AP is

2n® + 5n, then its nth term is ......

o Watch Video Solution

16. Fill in the blanks so as to make each of the

following statements true:


https://dl.doubtnut.com/l/_mHLB4lKhtKYQ
https://dl.doubtnut.com/l/_dOcZdoAYIXYp
https://dl.doubtnut.com/l/_TxW3UJnkOyZM

1
If in AP, th =
z+2 z+3 z+5 o X

° Watch Video Solution

17. Answer each question by selecting the
proper alternative from those given below
each question so as to make each statement
true:

The sum of the first n terms of the AP

V2, /B, /18, /32 i o

n(n + 1)
2

A.


https://dl.doubtnut.com/l/_TxW3UJnkOyZM
https://dl.doubtnut.com/l/_4JzU8lhwMk3j

B.2n(n + 1)

n(n + 1)

D. 1

Answer: A::B

o Watch Video Solution

18. Answer each question by selecting the
proper alternative from those given below
each question so as to make each statement

true:


https://dl.doubtnut.com/l/_4JzU8lhwMk3j
https://dl.doubtnut.com/l/_M8xJxLJUQScp

The sum of first n terms of two Aps are in the
ratio 5n + 4 ,9n + 6 . Then , the ratio of their

18th term is .......

, 179
- 321

18
- 321

175
321

176

> 321

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_M8xJxLJUQScp
https://dl.doubtnut.com/l/_u9fqQj2lZeTF

19. Answer each question by selecting the
proper alternative from those given below
each question so as to make each statement
true:

The common difference of the AP

1 1—2¢q 1-—4q

D. 2q


https://dl.doubtnut.com/l/_u9fqQj2lZeTF

Answer: A

o Watch Video Solution

20. Answer each question by selecting the
proper alternative from those given below
each question so as to make each statement
true:

If the nth term of AP is 2n +1, then the sum of

first n terms of the AP is ..........

A.n(n — 2)


https://dl.doubtnut.com/l/_u9fqQj2lZeTF
https://dl.doubtnut.com/l/_9nFsQGEAsxq4

C.n(n + 1)
D.n(n — 1)
Answer: B

o Watch Video Solution

Ojective Questions

1. Answer each question by selecting the

proper alternative from those given below


https://dl.doubtnut.com/l/_9nFsQGEAsxq4
https://dl.doubtnut.com/l/_ovGsSvZyJ9y9

each question so as to make each statement
true :
If k + 2, 4k - 6, 3k - 2 are three consecutive

terms of an AP, then k= ..........

Al

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ovGsSvZyJ9y9

2. Answer each question by selecting the
proper alternative from those given below
each question so as to make each statement

true:

The 10th term of the /2, /8, 1/18....... is

A. /162
B. /200
C. /242

D. /288


https://dl.doubtnut.com/l/_ovGsSvZyJ9y9
https://dl.doubtnut.com/l/_U3fMZzOMF6dF

Answer: B

o Watch Video Solution

3. Answer each question by selecting the
proper alternative from those given below
each question so as to make each statement
true:

The sum of first n terms of the AP a, 3a,5a.......iS

A. na


https://dl.doubtnut.com/l/_U3fMZzOMF6dF
https://dl.doubtnut.com/l/_crorHZxxf3p5

Answer: A::B

o Watch Video Solution

4. Answer each question by selecting the
proper alternative from those given below
each question so as to make each statement

true:


https://dl.doubtnut.com/l/_crorHZxxf3p5
https://dl.doubtnut.com/l/_Sbwnu0aYxpjr

Two Aps have the same common difference,

The difference between their millionth terms

is 111222333, then the difference between their

100th terms is .........

A. (a) 111222333

B. (b) 333222111

C.(c) 222333111

D. (d) 333222111

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_Sbwnu0aYxpjr

5. Answer each question by selecting the
proper alternative from those given below
each question so as to make each statement
true:

If pth and rth terms of an AP are a,b and ¢

respectively. then

a(q—r) +b(r—p) +c(p—q

A (a)O0

B.(b)a+b+c

C.(c)p+qg+r


https://dl.doubtnut.com/l/_Sbwnu0aYxpjr
https://dl.doubtnut.com/l/_G7VfL0ucMgH1

D. (d) pqr

Answer:

o Watch Video Solution

6. Answer the following by a number or a word
or a sentence:
The tenth term of the AP will exceed its fifth

term by how much if the common difference is

3
y

2

o Watch Video Solution



https://dl.doubtnut.com/l/_G7VfL0ucMgH1
https://dl.doubtnut.com/l/_XhxkbeuGeRw9

7. Answer the following by a number or a word
or a sentence:
If k-2, 2k and 2k + 7 are three consecutive

terms of an AP, what is the value of k ?

o Watch Video Solution

8. Answer the following by a number or a word
or a sentence::

Find the common difference of the AP

/B, /20, /35 ...


https://dl.doubtnut.com/l/_XhxkbeuGeRw9
https://dl.doubtnut.com/l/_xGxdcnWKweVG
https://dl.doubtnut.com/l/_IOAAHn3KHLdx

° Watch Video Solution

9. Answer the following by a number or a word
or a sentence::

Find the sum of all the 11 terms of a finite AP

whose middle most term is 30.

o Watch Video Solution

10. Answer the following by a number or a

word or a sentence:


https://dl.doubtnut.com/l/_IOAAHn3KHLdx
https://dl.doubtnut.com/l/_nZpBzHzz1qy5
https://dl.doubtnut.com/l/_UBhd5bHT2Ajj

In an AP, if S, = 3n? + 5n and a; = 164, find

the value of k.

° Watch Video Solution

11. State whether each of the following
statements is true or false:

For an AP, the first term can never be zero.

° Watch Video Solution



https://dl.doubtnut.com/l/_UBhd5bHT2Ajj
https://dl.doubtnut.com/l/_dLTRioxfIJmc

12. State whether each of the following
statements is true or false :
For an AP, the common difference can never be

Zero.

o Watch Video Solution

13. State whether each of the following
statements is true or false :

The sum of first n natural numbers is given by

n(n + 1)
2

| & ]


https://dl.doubtnut.com/l/_ArAPYcuH5oir
https://dl.doubtnut.com/l/_IBx1GG02qCjQ

| ' Watch Video Solution |

14. State whether each of the following
statements is true or false:
For an AP, if S,=05n>—3n , then

a, = 10n — 8

o Watch Video Solution

15. State whether each of the following
statements is true or false :

For an AP for which the common difference is


https://dl.doubtnut.com/l/_IBx1GG02qCjQ
https://dl.doubtnut.com/l/_rikLRCTFUhCL
https://dl.doubtnut.com/l/_uHKsqk3a3xNQ

negative, it is possible that the sum of its first

m terms and first n terms are equal.

° Watch Video Solution

Objective Questions

1. Answer each question by selecting the

proper alternative from those given below
each question so as to make each statement

true:


https://dl.doubtnut.com/l/_uHKsqk3a3xNQ
https://dl.doubtnut.com/l/_a7t02cGzj8Qu

If the common difference of an AP is 5. then

value Of, aig — ais IS ...

A5

B. 20

C. 25

D. 30

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_a7t02cGzj8Qu

